FLOOR PLAN

SCALE: NTS
ARCH REF: A/A1.5

QUANTITY: TYPEA-02,
TYPE B - 07,
TYPEC-01.

GROUND FLOOR

GLASS WALL SYSTEM(S):

KAWNEER IR-501T THERMAL IMPACT

ALUMINUM STOREFRONT

seoTaToTETeToTaTeT
12080000 000205000300
18003050605860005
09000800025900000
202090206202030%08084"

B e )
R RIS
15ee8e8e 00088200 s:
S 0803050500002000
762090208020%02080 26!

APPARATUS BAY
101

<. PRECISION

TEXAS LLC
(361) 793-8198

r‘q Y PLANS

ol @

@)

DESCRIPTION

First Submittal

01/26/21
DATE

fp

@)

1
SuB| BY

=

JANITORIAL
107

TRAINING ROON

OFFICE
(0]

A

BREAK_ROOM

103

CONTRACTOR'S GLASS PRODUCTS
7701 WEBER RD, CORPUS CHRISTI, TX 78315
FAX (361) 854-4412

WORK (361) 854-8188

%)
e
O
>-
il
>
g
3 9
o =
o
w0
E x
5 o 2
= x o
= < 3
o %) [
rZ % L
O g
SE = wi
o © >
D= 5>s s
580 D 58
56Z £53% Zug
cowl 5=>= gO:
=g 258 £Os8
PROJECT NO.
CGP-2101-01

DRAWN BY DATE

fp | 01/26/21

SCALE

NTS

DRAWING

FLOOR PLANS

SHEET P1




9

<. PRECISION
3 PLANS

TEXAS LLC
(361) 793-8198

DESCRIPTION

First Submittal

E

s|3
wn N
= ©v <
S g}
a S 2
o = &
o = ©
o bH &
v x X
D 5 T
< »
— )
(&) =
99 o B
r © =
O o X
= £ 3
QO x
< 'S'.S f
o W ©
= = &
= - x
O g
O ~ O

=

4' (48" RO) =~ 2 (24"RO) —= 14"
3/8" ——fle————— 311 1/4" (47 1/4" FR) - 3/8" 11 = (16"RO) ]
e 111 5/8" 1'-11 5/8" —= 38" —l=— (23 114" FR) ——~— 38" 13 1/4"
17 1/2" L 514 FRY [T
117 1/2" (19 1/2" DLO) Ly 1-534 | 3/8" —fm e B
(191/2'DLO) [1T (17 3/4" DLO) 934" |_|
. . (DLO)
23/4" —f (= 23/4" — | [=— 234" —— =— I o 234" — = 234" |~ o ——  [~—23/4" %
ot telllet ol ol § T — il i
ol e ’ ; ¢ * | | 23/ | f
T T T T i ’ T T I ] ’ r I I
] ) m t.e ¥ g 01 *
[oz]mA D1A 2 =i 02)( o1 3 & Q ¥
&) s T -y o B/ | & T T o °
(03) (04) D1J) (02) P T, 9 (03)(02) P T, 9
1) (D1 D1 | S S Y b1J(b1) | T T8 w (02)
|, | | | ) & ‘ i , | i ) % ‘ l (b1 § El::
f 1 f 1 )
¢ ) ) . _ ¢ ¢ s . ¥ ¥ pgx
N & & ii = = 0
= 3 - e 523
T ¥y
(02) > 9
D1 ¥+ b
T
2
D1
i
A A ] gﬁ o |
R ~ N o
23/4" —= = ®
=]
o
FF
ELEVATION
QUANTITY: 07 « B STOREFRONT
igéfééf: 1}:1)_5 KAWNEER IR-501T THERMAL IMPACT
B/A15 ALUMINUM STOREFRONT
AIA3.1
ELEVATION CIA3.1 ELEVATION
QUANTITY: 02 A STOREFRONT B/A41 QUANTITY: 01 C STOREFRONT
SCALE: 1/2"=1-0" SCALE: 1/2" = 1-0"
KAWNEER IR-501T THERMAL IMPACT

ARCH REF: A/A1.5

B/A3.1
D/A3.1
A/A4 A

KAWNEER IR-501T THERMAL IMPACT

ALUMINUM STOREFRONT

ARCH REF: A/A1.5

ALUMINUM STOREFRONT

%)
hd
o
>-
it
>
g
w9
c
o
w0
E x
& o 2
= x o
= < @
o %) [
rZ % L
tO g
SE = wi
o< o >
Q= 5Zs s
R0 pif 58
59& 538 548
[©] = =
f=p 258 £08
PROJECT NO.
CGP-2101-01

DRAWN BY DATE

fp | 01/26/21

SCALE

12" =1'-0"

DRAWING

ELEVATIONS

SHEET E 1




3/8"

%o

Hal
(i

oD
FH
MH
23/4
g é

S
(=)
5
DETAIL
st 5 =101 _WINDOW HEAD
ARCH REF: 1/A3.5 GLASS WALL SYSTEM TYPE:
TDI A1/5 KAWNEER IR-501T THERMAL IMPACT ALUMINUM STOREFRONT

a

575T513 STANDARD SILL
575504 GLASS STOP
575T537 SILL FLASHING
A 575205 END DAM
o
—
[=)
| 3 ]
8™ 7|+ S
)
N
-y S
- = HHHHHHHHHHHHHHHHHIHHHHV
N
?QF
[32]

DETAIL

ST @ WINDOW SILL

ARCH REF: 3/A3.5 GLASS WALL SYSTEM TYPE:

TDI B/5 KAWNEER IR-501T THERMAL IMPACT ALUMINUM STOREFRONT

5757500 JAMB/HEAD
FILLER: 575T216 @ 6" LONG
5757217 @ 12" LONG

DETAIL

~ ~. PRECISION
Ly NY PLANS
q TEXAS LLC
(361) 793-8198

DESCRIPTION

First Submittal

01/26/21
DATE

fp

1
SuB| BY

e s 02 WINDOW JAMB

ARCH REF: 2/A3.5 GLASS WALL SYSTEM TYPE:
TDI D1/5 KAWNEER IR-501T THERMAL IMPACT ALUMINUM STOREFRONT

5757514 HW TUBE MULLION

127209 MATING GASKET

575531 MULLION INSERT INTERIOR HALF
575532 MULLION INSERT EXTERIOR HALF

DLO 23/4" DLO

DETAIL

CONTRACTOR'S GLASS PRODUCTS
7701 WEBER RD, CORPUS CHRISTI, TX 78315
FAX (361) 854-4412

WORK (361) 854-8188

SCALE. 3" = 1.0 @ VERTICAL MULLION

ARCH REF: N/A GLASS WALL SYSTEM TYPE:
TDI E1/6 KAWNEER IR-501T THERMAL IMPACT ALUMINUM STOREFRONT

%)
x
o
>_
{u
>
g
o 9
7)) -
el .
%)
S w
s ¢
T
5 o 2
= x o
< < %]
= =W
o %) 4
rZ w
5§ B
e Z L
o © >
m> 523 <3
(D (6] @© [=3
580 D 58
153 i
o = =
f= $58 £08
PROJECT NO.
CGP-2101-01
DRAWN BY DATE
fp 01/26/21
SCALE
3= 120"
DRAWING
DETAILS

SHEET

D1




KAWNEER

ACCEPTABLE SUBSTRATE MATERIALS:
CONCRETE MIN.: 3000 PSI CONCRETE; C90 CONCRETE-FILLED CMU
METAL STUD: STOREFRONT - MIN. 16 GA. 33 KSI
STEEL: STOREFRONT - 1/8" THK A36 STEEL
WOOD MIN.: 2X WOOD FRAME OR BUCK (MIN. GR. 3 & G=0.55)
DISCLAIMER: THIS SHEET IS A REFERENCE SHEET ONLY, NOT A SUBSTITUTE FOR THE TDI PED NUMBER NOTED
PED NUMBERS(S) CONSIDERED FOR THIS SHEET:
#1758T, REV B, STOREFRONT
SHIM SPACE: MAX. SHIM SPACING IS 3/8".

KAWNEER STOREFRONT IR-501T FRAMING ANCHORS
TDI #1728T, REVB, PAGE 1 OF 10
F1. CONCRETE ANCHORS: CONCRETE SCREWS SHALL BE 1/4" SCREWS CONSISTING OF ULTRACONS (C.S.), ELCO CRETE-FLEX

(S.S.) ITW RAMSET/RED HEAD TAPCONS (C.S. OR S.S.), OR HILTI KWIK-CON Il (C.S. OR S.S.), WITH MINIMUM EMBEDMENT OF 1 3/4"

AND A MINIMUM EDGE DISTANCE OF 2 1/2"

F2. CONCRETE FILLED BLOCK: CONCRETE SCREWS SHALL BE 1/4" SCREWS CONSISTING OF ULTRACONS (C.S.), ELCO
CRETE-FLEX (S.8.) ITW RAMSET/RED HEAD TAPCONS (C.S. OR S.S.), OR HILTI KWIK-CON I (C.S. OR S.S.), WITH MINIMUM
EMBEDMENT OF 1 3/4" AND A MINIMUM EDGE DISTANCE OF 2 1/2"

F3. METAL STUDS: SCREWS SHALL BE 1/4" SELF-TAP DRILL SCREWS, WITH A FULL EMBEDMENT AND A MINIMUM OF 1/2" EDGE
DISTANCE

F4. METAL PLATES: SCREWS SHALL BE 1/4" SELF-TAP DRILL SCREWS, WITH A FULL EMBEDMENT AND A MINIMUM OF 1/2" EDGE
DISTANCE

F4. WOOD ANCHORS: ANCHORS FOR WOOD SHALL BE A MINIMUM OF #14 SMS OR WOOD SCREWS SCREWS, WITH A MINIMUM
EMBEDMENT OF 1 3/8" AND A MIN EDGE DISTANCE OF 1"

ANCHORING

ANCHORS: THE NUMBER AND TYPES

OF SUBSTRATE (SEE THIS
SHEET AND TDI PRODUCT
EVALUATION DOCUMENTS)

gmﬁssssam& 1 B KAWNEER STOREFRONT

GLASS FRAMING SYSTEM(S):

KAWNEER IR 501 THERMAL ALUMINUM STOREFRONT - LARGE MISSILE IMPACT

VERTICAL MULLION
AT HEAD

TDI #1461T REV B, SHEET 3 OF 10

END JAMB AT HEAD

TDI #1461T REV B, SHEET 3 OF 10

CONCRETE
& METAL 1}0 04} 1}0
HEAD / >
NUMBER OF ANCHORS ARE: #*%-gﬁ_ ﬂi*
DETERMINED LENGTH OF g %
SPAN AND ON THE IMPOSED — =

WIND LOAD ON MEMBER

CONCRETE BLOCK ¢
AND METAL STUD ¢

HEAD

NUMBER OF ANCHORS ARE: {:‘3
DETERMINED LENGTH OF )
SPAN AND ON THE IMPOSED
WIND LOAD ON MEMBER

MULLION
| z’;—

WOOD ¢

JAMB f

HEAD

EiE
’MULL;ION
=T

KAWNEER IR-501T
STOREFRONT

JAMB f

JAMB ANCHOR REQUIREMENTS
TDI #1758T, RV B, SHEET 2 OF 10
ANCHORS ARE REQUIRED FOR JAMBS GREATER THAN 90

— 2
o 5 o e
—7_‘ f—
WOOD =1
=
SILL ‘ ‘ ‘
M y» 4»3
NUMBER OF ANCHORS ARE:
DETERMINED LENGTH OF
SPAN AND ON THE IMPOSED
WIND LOAD ON MEMBER

CONCRETE BLOCK

JAMB

MULL;ION“ ‘

SILL

3

<. PRECISION
3 PLANS

TEXAS LLC
(361) 793-8198

DESCRIPTION

First Submittal

01/26/21
DATE

fp

1
SuB| BY

CONTRACTOR'S GLASS PRODUCTS
7701 WEBER RD, CORPUS CHRISTI, TX 78315

FAX (361) 854-4412

WORK (361) 854-8188

NUMBER OF ANCHORS ARE:
DETERMINED LENGTH OF
SPAN AND ON THE IMPOSED
WIND LOAD ON MEMBER

CONCRETE & STEEL

JAMB

SILL

(7]

4

)

>-

11

>

L

n 9

o =

o

w0

E x
=
S O 2
= x o
= < g
o %) 4
rZ % w
O 8
= =z w
o< o >
D= 5>s s
5RO i 58
$8i 33° 48
f= $58 £08

PROJECT NO.

CGP-2101-01

’
VERTICAL ¢
MULLION AT SILL

TDI#1461T REV B, SHEET 3 OF 10

*

END JAMB AT SILL

DRAWN BY

DATE

TDI#1461T REV B, SHEET 3 OF 10

fp | 01/26/21
SCALE
NTS
DRAWING
ANCHORING
SHEET

A1




	Sheets and Views
	210125,WoodsboroFireStationRemodel-C1
	210125,WoodsboroFireStationRemodel-P1
	210125,WoodsboroFireStationRemodel-E1
	210125,WoodsboroFireStationRemodel-D1
	210125,WoodsboroFireStationRemodel-A1
	210125,WoodsboroFireStationRemodel-R1
	210125,WoodsboroFireStationRemodel-R2
	210125,WoodsboroFireStationRemodel-R3
	210125,WoodsboroFireStationRemodel-R4




